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QUESTION 1

Which load balancing policy, previously limited to vSphere Distributed Switches, is now available on vSphere Standard
Switches with vSphere 6.x? 

A. Route based on physical NIC workload 

B. Route based on IP Hash 

C. Route based on the originating virtual port 

D. Route based on Source MAC Hash 

Correct Answer: A 

Route based on physical NIC workload was limited to vSphere Distributed switches. Now its available on vSphere
standard switches with vSphere 6.x 

Reference: https://pubs.vmware.com/vsphere-60/topic/com.vmware.ICbase/PDF/vsphere-esxi-
vcenterserver-60-networking-guide.pdf 

 

QUESTION 2

An administrator is given a bash script that retrieves data for ESXi 6.x host configurations. This data needs to be
collected right after the installation of a host and must be run directly on the host. 

Which two actions can be used to run this script on an ESXi host? (Choose two.) 

A. Connect to the host with Ruby vSphere Console and run the script from there. 

B. Enable SSH access from the Direct Console User Interface. 

C. Enable the ESXi Shell from the Direct Console User Interface. 

D. Run the script directly from the vSphere Web Client. 

Correct Answer: BC 

The Direct Console User Interface (DCUI) allows you to interact with the host locally using text-based menus. You can
use the Direct Console User Interface to enable local and remote access to the ESXi Shell. 

Reference: https://pubs.vmware.com/vsphere-50/index.jsp?topic=%
2Fcom.vmware.vsphere.security.doc_50%2FGUID-94F0C54F-05E3-4E16-8027-0280B9ED1009.html 

 

QUESTION 3

During a new vSphere Distributed Switch configuration, where does the Maximum Transmission Unit (MTU) value get
modified? 

A. Uplink Settings 
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B. Switch Settings 

C. Portgroup Settings 

D. NIC Teaming Settings 

Correct Answer: B 

You can modify MTU values in switch settings. 

Reference: https://kb.vmware.com/selfservice/microsites/search.do%3Flanguage%3Den_US%26cmd% 

3DdisplayKC%26externalId%3D1010557 

 

QUESTION 4

Which three operations occur during a cold migration of a virtual machine? (Choose three.) 

A. The virtual machine disks are moved if the datastore is being changed. 

B. The virtual machine is registered with the destination server. 

C. The source virtual machine is removed from the old hosts. 

D. The virtual machine hardware is upgraded. 

E. The virtual machine files are quiesced prior to the migration. 

Correct Answer: ABC 

First, the virtual machine disks are moved if the datastore is being changed, the virtual machine is registered with the
destination server and the source virtual machine is removed from the old host/s. Reference:
https://kb.vmware.com/selfservice/microsites/search.do? language=en_USandcmd=displayKCandexternalId=1010045 

 

QUESTION 5

A mission-critical virtual machine built on vSphere 4.1 needs to be moved to an ESXi 6.x host. 

Which virtual hardware version is needed to move the virtual machine without upgrading? 

A. 6 

B. 7 

C. 10 

D. 11 

Correct Answer: B 

You need version 7 to upgrade a VM on vSphere 4.1 to ESXi 6.x host Reference:
https://kb.vmware.com/selfservice/microsites/search.do? language=en_USandcmd=displayKCandexternalId=1003746 
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